

HERMITE-HADAMARD TYPE INEQUALITIES FOR THE OPERATOR MODULUS IN HILBERT SPACES

SILVESTRU SEVER DRAGOMIR^{1,2}

ABSTRACT. Let $(H; \langle \cdot, \cdot \rangle)$ be a complex Hilbert space. Denote by $\mathcal{B}(H)$ the Banach C^* -algebra of bounded linear operators on H . We say that the continuous function $B : [a, b] \rightarrow \mathcal{B}(H)$ is square modulus convex (concave) on $[a, b]$ if

$$|B((1-t)u + tv)|^2 \leq (\geq) (1-t)|B(u)|^2 + t|B(v)|^2$$

in the operator order of $\mathcal{B}(H)$, for all $u, v \in [a, b]$ and $t \in [0, 1]$. In this paper, we show among others that,

$$\begin{aligned} & \left| B\left(\frac{u+v}{2}\right) \right|^2 \\ & \leq (\geq) (1-\lambda) \left| B\left[\frac{(1-\lambda)u + (1+\lambda)v}{2}\right] \right|^2 + \lambda \left| B\left[\frac{(2-\lambda)u + \lambda v}{2}\right] \right|^2 \\ & \leq (\geq) \int_0^1 |B[(1-t)u + tv]|^2 dt \\ & \leq (\geq) \frac{1}{2} \left\{ (1-\lambda)|B(v)|^2 + \lambda|B(u)|^2 + |B[(1-\lambda)u + \lambda v]|^2 \right\} \\ & \leq \frac{1}{2} (\geq) \left[|B(u)|^2 + |B(v)|^2 \right] \end{aligned}$$

for all $u, v \in [a, b]$ and $\lambda \in [0, 1]$. Applications for power functions are provided as well.

1. INTRODUCTION

Let \mathbb{R} be the set of real numbers and $I \subseteq \mathbb{R}$ be an interval. A function $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is said to be *convex* in the classical sense if it satisfies the following inequality

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y)$$

for all $x, y \in I$ and $t \in [0, 1]$.

Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ and $a, b \in I$ with $a < b$. Then the inequality

$$(1.1) \quad f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a) + f(b)}{2}$$

holds if f is convex, and is known in the literature as *Hermite-Hadamard inequality*, after the name of C. Hermite and J. Hadamard (see [14]). The inequalities in (1.1) hold in reversed direction if f is a concave function.

A vast literature related to (1.1) have been produced by a large number of mathematicians [8] since it is considered to be one of the most famous inequality for

¹1991 *Mathematics Subject Classification*. 47A63, 26D15, 46C05.

Key words and phrases. Ostrowski's inequality, Midpoint inequality, Operator Valued functions in Hilbert spaces, Operator exponential.

convex functions due to its usefulness and many applications in various branches of Pure and Applied Mathematics, such as Numerical Analysis [3], Information Theory [2], Operator Theory [6] and others.

Let X be a vector space over the real or complex number field \mathbb{K} and $x, y \in X$, $x \neq y$. Define the segment

$$[x, y] := \{(1-t)x + ty, t \in [0, 1]\}.$$

We consider the function $f : [x, y] \rightarrow \mathbb{R}$ and the associated function

$$g(x, y) : [0, 1] \rightarrow \mathbb{R}, \quad g(x, y)(t) := f[(1-t)x + ty], \quad t \in [0, 1].$$

Note that f is convex on $[x, y]$ if and only if $g(x, y)$ is convex on $[0, 1]$.

For any convex function defined on a segment $[x, y] \subset X$, we have the *Hermite-Hadamard integral inequality* (see [4, p. 2], [5, p. 2])

$$(1.2) \quad f\left(\frac{x+y}{2}\right) \leq \int_0^1 f[(1-t)x + ty] dt \leq \frac{f(x) + f(y)}{2},$$

which can be derived from the classical Hermite-Hadamard inequality (1.1) for the convex function $g(x, y) : [0, 1] \rightarrow \mathbb{R}$.

Since $f(x) = \|x\|^p$ ($x \in X$ and $1 \leq p < \infty$) is a convex function, then for any $x, y \in X$ we have the following norm inequality from (1.2) (see [13, p. 106])

$$(1.3) \quad \left\| \frac{x+y}{2} \right\|^p \leq \int_0^1 \|(1-t)x + ty\|^p dt \leq \frac{\|x\|^p + \|y\|^p}{2}.$$

Denote by $\mathcal{B}(H)$ the Banach C^* -algebra of bounded linear operators on Hilbert space H . For $A \in \mathcal{B}(H)$ we define the modulus of A by $|A| := (A^*A)^{1/2}$. It is well known that the modulus of operators does not satisfy, in general, the triangle inequality $|A+B| \leq |A| + |B|$, so the classical arguments using this inequality can not be used.

The following Cauchy-Bunyakowsky-Schwarz inequality holds

$$(1.4) \quad \sum_{k=1}^n w_k |z_k|^2 \sum_{k=1}^n w_k |A_k|^2 \geq \left| \sum_{k=1}^n w_k z_k A_k \right|^2,$$

where $z_k \in \mathbb{C}$, $A_k \in \mathcal{B}(H)$, $w_k \geq 0$ for $k \in \{1, \dots, n\}$ and $\sum_{k=1}^n w_k = 1$.

A general version of this inequality is proved below in Lemma 1.

Definition 1. We say that the continuous function $B : [a, b] \rightarrow \mathcal{B}(H)$ is square modulus convex (concave) on $[a, b]$ if

$$(1.5) \quad |B((1-t)u + tv)|^2 \leq (\geq) (1-t)|B(u)|^2 + t|B(v)|^2$$

in the operator order of $\mathcal{B}(H)$, for all $u, v \in [a, b]$ and $t \in [0, 1]$.

Let $A, B \in \mathcal{B}(H)$ and $\alpha \in [0, 1]$. Then by (1.4), we get

$$\begin{aligned} |(1-\alpha)A + \alpha B|^2 &= \left| (1-\alpha)^{1/2} (1-\alpha)^{1/2} A + \alpha^{1/2} \alpha^{1/2} B \right|^2 \\ &\leq \left[\left((1-\alpha)^{1/2} \right)^2 + \left(\alpha^{1/2} \right)^2 \right] \left[\left| (1-\alpha)^{1/2} A \right|^2 + \left| \alpha^{1/2} B \right|^2 \right] \\ &= (1-\alpha + \alpha) \left[(1-\alpha) |A|^2 + \alpha |B|^2 \right] \\ &= (1-\alpha) |A|^2 + \alpha |B|^2. \end{aligned}$$

Consider the function $C : [0, 1] \rightarrow \mathcal{B}(H)$, $C(t) = |(1-t)A + tB|$. Let $t_1, t_2 \in [0, 1]$ and $\alpha \in [0, 1]$. Then

$$\begin{aligned} |C((1-\alpha)t_1 + \alpha t_2)|^2 &= |(1 - (1-\alpha)t_1 - \alpha t_2)A + ((1-\alpha)t_1 + \alpha t_2)B|^2 \\ &= |(1-\alpha)((1-t_1)A + t_1B) + \alpha((1-t_2)A + t_2B)|^2 \\ &\leq (1-\alpha)|((1-t_1)A + t_1B)|^2 + \alpha|((1-t_2)A + t_2B)|^2 \\ &= (1-\alpha)|C(t_1)|^2 + \alpha|C(t_2)|^2, \end{aligned}$$

which shows that C is *square modulus convex* on $[0, 1]$.

In this paper, we show among others that, if $B : [a, b] \rightarrow \mathcal{B}(H)$ is square modulus convex (concave) on $[a, b]$, then

$$\begin{aligned} &\left| B\left(\frac{u+v}{2}\right) \right|^2 \\ &\leq (\geq) (1-\lambda) \left| B\left[\frac{(1-\lambda)u + (1+\lambda)v}{2}\right] \right|^2 + \lambda \left| B\left[\frac{(2-\lambda)u + \lambda v}{2}\right] \right|^2 \\ &\leq (\geq) \int_0^1 |B[(1-t)u + tv]|^2 dt \\ &\leq (\geq) \frac{1}{2} \left\{ (1-\lambda)|B(v)|^2 + \lambda|B(u)|^2 + |B[(1-\lambda)u + \lambda v]|^2 \right\} \\ &\leq \frac{1}{2} (\geq) \left[|B(u)|^2 + |B(v)|^2 \right] \end{aligned}$$

for all $u, v \in [a, b]$ and $\lambda \in [0, 1]$. Applications for power functions are provided as well.

For recent Hermite-Hadamard type operator inequalities, see [7], [9]-[12] and [16]-[17].

2. GENERAL INEQUALITIES

Let $(\Omega, \mathcal{A}, \mu)$ be a measurable space consisting of a set Ω , a σ -algebra \mathcal{A} of parts of Ω and a countably additive and positive measure μ on \mathcal{A} with values in $\mathbb{R} \cup \{\infty\}$.

For a μ -measurable function $w : \Omega \rightarrow \mathbb{R}$, with $w(x) \geq 0$ for μ -a.e. $x \in \Omega$, consider the Lebesgue space $L_w^2(\Omega) := \{f : \Omega \rightarrow \mathbb{C}, f \text{ is } \mu\text{-measurable and } \int_{\Omega} w(x)|f(x)|^2 d\mu(x) < \infty\}$. Assume $\int_{\Omega} w(x) d\mu(x) = 1$. In order to simplify the notation for the integrals, we do not write the variable, namely, instead of $\int_{\Omega} w(x) d\mu(x)$ we simply write $\int_{\Omega} w d\mu$.

We have the following Cauchy-Bunyakowsky-Schwarz inequality:

Lemma 1. *If $\alpha \in L_w^2(\Omega)$ and*

$$A \in L_{2,w}(\Omega, \mathcal{B}(H)) := \left\{ A : \Omega \rightarrow \mathcal{B}(H), \int_{\Omega} w(x) \|A(x)\|^2 d\mu(x) < \infty \right\},$$

then

$$\begin{aligned} (2.1) \quad &\int_{\Omega} w(x) |\alpha(x)|^2 d\mu(x) \int_{\Omega} w(x) |A(x)|^2 d\mu(x) \\ &\geq \left| \int_{\Omega} w(x) \alpha(x) A(x) d\mu(x) \right|^2, \end{aligned}$$

in the operator order of $\mathcal{B}(H)$.

Proof. We have for $\alpha \in L_w^2(\Omega)$ and $A \in L_{2,w}(\Omega, \mathcal{B}(H))$,

$$0 \leq \left| \overline{\alpha(x)A(y)} - \overline{\alpha(y)A(x)} \right|^2 = |\alpha(x)|^2 |A(y)|^2 - \alpha(y) \overline{\alpha(x)A^*(x)A(y)} \\ - \alpha(x) \overline{\alpha(y)A^*(y)A(x)} + |\alpha(y)|^2 |A(x)|^2,$$

which gives that

$$|\alpha(x)|^2 |A(y)|^2 + |\alpha(y)|^2 |A(x)|^2 \\ \geq \alpha(y) \overline{\alpha(x)A^*(x)A(y)} + \alpha(x) \overline{\alpha(y)A^*(y)A(x)}$$

for all $y, x \in \Omega$.

Now, multiply this with $w(y)w(x) \geq 0$ to get

$$w(x) |\alpha(x)|^2 w(y) |A(y)|^2 + w(y) |\alpha(y)|^2 w(x) |A(x)|^2 \\ \geq w(x) \overline{\alpha(x)A^*(x)A(y)} w(y) \alpha(y) A(y) + w(y) \overline{\alpha(y)A^*(y)A(x)} w(x) \alpha(x) A(x)$$

for all $y, x \in \Omega$.

Integrating over x and y on Ω , then we get

$$\int_a^b w(x) |\alpha(x)|^2 d\mu(x) \int_a^b |A(y)|^2 d\mu(y) \\ + \int_a^b |\alpha(y)|^2 d\mu(y) \int_a^b w(x) |A(x)|^2 d\mu(x) \\ \geq \int_a^b w(x) \overline{\alpha(x)A^*(x)A(y)} d\mu(x) \int_a^b \alpha(y) A(y) d\mu(y) \\ + \int_a^b w(y) \overline{\alpha(y)A^*(y)A(x)} d\mu(y) \int_a^b \alpha(x) A(x) d\mu(x) \\ = 2 \left| \int_a^b w(y) \alpha(y) A(y) d\mu(y) \right|^2,$$

and the inequality (2.1) is obtained. \square

Assume that f is *nonnegative* on I and *operator convex*, namely

$$f((1-\alpha)A + \alpha B) \leq (1-\alpha)f(A) + \alpha f(B)$$

for all $\alpha \in [0, 1]$ and selfadjoint operators A, B with spectra in I .

For such function and A, B , we consider

$$D(t) := [f((1-t)A + tB)]^{1/2}, t \in [0, 1].$$

Then, using a similar proof as above for the modulus function, we conclude that D is *square modulus convex* on $[0, 1]$.

The function $f(t) = t^r$ is operator convex on $(0, \infty)$ if either $1 \leq r \leq 2$ or $-1 \leq r \leq 0$ and is operator concave on $(0, \infty)$ if $0 \leq r \leq 1$. Therefore for $A, B > 0$, the function

$$B_r(t) := ((1-t)A + tB)^{r/2}, t \in [0, 1]$$

is *square modulus convex* on $[0, 1]$ for $1 \leq r \leq 2$ or $-1 \leq r \leq 0$.

Let $B : [a, b] \rightarrow \mathbb{C}$ be defined by $B(t) := x(t) + y(t)i$, $t \in [a, b]$. Observe that $|B(t)|^2 = x^2(t) + y^2(t)$, $t \in [a, b]$. Now, if x^2, y^2 are convex on $[a, b]$, then obviously that $x^2 + y^2$ is convex on $[a, b]$. However, if we take $x(t) = t \sin t$, $y(t) = t \cos t$,

$t \in [0, 2\pi]$, then neither x^2 nor y^2 is convex on $[0, 2\pi]$ but $x^2 + y^2$ is convex on $[0, 2\pi]$.

Proposition 1. *If the continuous function $B : [a, b] \rightarrow \mathcal{B}(H)$ is square modulus concave on $[a, b]$ then for $p \in (0, 1)$, $|B(\cdot)|^p$ is also square modulus concave on $[a, b]$.*

Proof. By the operator monotonicity and operator concavity of the function $h(t) = t^p$ for $p \in (0, 1)$, we have

$$\begin{aligned} |B((1-t)u + tv)|^{2p} &\geq \left((1-t)|B(u)|^2 + t|B(v)|^2 \right)^p \\ &\geq (1-t)|B(u)|^{2p} + t|B(v)|^{2p} \end{aligned}$$

for $t \in [0, 1]$, which shows that $|B(\cdot)|^p$ is also square modulus concave on $[a, b]$. \square

For $A, B > 0$, the function

$$B_q(t) := ((1-t)A + tB)^{q/2}, \quad t \in [0, 1]$$

is *square modulus concave* on $[0, 1]$ for $q \in (0, 1)$.

Indeed, we have for $t_1, t_2 \in [0, 1]$ and $\alpha \in [0, 1]$ that

$$\begin{aligned} |B_q((1-\alpha)t_1 + \alpha t_2)|^2 &= ((1-(1-\alpha)t_1 + \alpha t_2)A + ((1-\alpha)t_1 + \alpha t_2)B)^q \\ &= [(1-\alpha)((1-t_1)A + t_1B) + \alpha((1-t_2)A + t_2B)]^q \\ &\geq (1-\alpha)((1-t_1)A + t_1B)^q + \alpha((1-t_2)A + t_2B)^q \\ &= (1-\alpha)|B_q(t_1)|^2 + \alpha|B_q(t_2)|^2, \end{aligned}$$

which shows that B_q is *square modulus concave* on $[0, 1]$.

We have the following Hermite-Hadamard type inequalities:

Theorem 1. *Assume that the continuous function $B : [a, b] \rightarrow \mathcal{B}(H)$ is square modulus convex (concave) on $[a, b]$. Then for all $u, v \in [a, b]$ we have*

$$(2.2) \quad \left| B\left(\frac{u+v}{2}\right) \right|^2 \leq (\geq) \int_0^1 |B((1-t)u + tv)|^2 dt \\ \leq (\geq) \frac{1}{2} \left[|B(u)|^2 + |B(v)|^2 \right].$$

Proof. The proof goes along the classical one, namely, if we integrate the inequality (1.5) over $t \in [0, 1]$, then we get

$$\begin{aligned} \int_0^1 |B((1-t)u + tv)|^2 dt &\leq \int_0^1 \left[(1-t)|B(u)|^2 + t|B(v)|^2 \right] dt \\ &= \frac{|B(u)|^2 + |B(v)|^2}{2}, \end{aligned}$$

which proves the right side of (2.2).

From (1.5) we have for all $x, y \in [a, b]$

$$(2.3) \quad \left| B\left(\frac{x+y}{2}\right) \right|^2 \leq \frac{|B(x)|^2 + |B(y)|^2}{2}.$$

If we take in (2.3) $x = (1-t)u + tv$ and $y = tu + (1-t)v$, then we get

$$(2.4) \quad \left| B\left(\frac{u+v}{2}\right) \right|^2 \leq \frac{1}{2} \left[|B((1-t)u + tv)|^2 + |B(tu + (1-t)v)|^2 \right]$$

for all $t \in [0, 1]$.

If we take the integral in (2.4), then we get

$$\begin{aligned} \left| B\left(\frac{u+v}{2}\right) \right|^2 &\leq \frac{1}{2} \left[\int_0^1 |B((1-t)u + tv)|^2 dt + \int_0^1 |B(tu + (1-t)v)|^2 dt \right] \\ &= \frac{1}{2} \left[\int_0^1 |B((1-t)u + tv)|^2 dt + \int_0^1 |B((1-t)u + tv)|^2 dt \right] \\ &= \int_0^1 |B((1-t)u + tv)|^2 dt, \end{aligned}$$

which proves the first inequality in (2.2). \square

Remark 1. For $u \neq v$, $u, v \in [a, b]$, by changing the variable $s = (1-t)u + tv$, $t \in [0, 1]$, we get $ds = (v-u)dt$ and

$$\int_0^1 |B((1-t)u + tv)|^2 dt = \frac{1}{v-u} \int_u^v |B(s)|^2 ds,$$

and by (2.2)

$$(2.5) \quad \left| B\left(\frac{u+v}{2}\right) \right|^2 \leq (\geq) \frac{1}{v-u} \int_u^v |B(s)|^2 ds \leq (\geq) \frac{1}{2} [|B(u)|^2 + |B(v)|^2],$$

for $u \neq v$, $u, v \in [a, b]$.

In fact, the following refinement of (2.2) holds:

Theorem 2. Assume that the continuous function $B : [a, b] \rightarrow \mathcal{B}(H)$ is square modulus convex (concave) on $[a, b]$. Then for all $u, v \in [a, b]$ and $\lambda \in [0, 1]$, we have

$$\begin{aligned} (2.6) \quad &\left| B\left(\frac{u+v}{2}\right) \right|^2 \\ &\leq (\geq) (1-\lambda) \left| B\left[\frac{(1-\lambda)u + (1+\lambda)v}{2}\right] \right|^2 + \lambda \left| B\left[\frac{(2-\lambda)u + \lambda v}{2}\right] \right|^2 \\ &\leq (\geq) \int_0^1 |B[(1-t)u + tv]|^2 dt \\ &\leq (\geq) \frac{1}{2} \left\{ (1-\lambda) |B(v)|^2 + \lambda |B(u)|^2 + |B[(1-\lambda)u + \lambda v]|^2 \right\} \\ &\leq \frac{1}{2} (\geq) [|B(u)|^2 + |B(v)|^2]. \end{aligned}$$

In particular,

$$\begin{aligned} (2.7) \quad &\left| B\left(\frac{u+v}{2}\right) \right|^2 \leq (\geq) \frac{1}{2} \left\{ \left| B\left(\frac{u+3v}{4}\right) \right|^2 + \left| B\left(\frac{3u+v}{2}\right) \right|^2 \right\} \\ &\leq (\geq) \int_0^1 |B[(1-t)u + tv]|^2 dt \\ &\leq (\geq) \frac{1}{2} \left\{ \frac{|B(v)|^2 + |B(u)|^2}{2} + \left| B\left(\frac{u+v}{2}\right) \right|^2 \right\} \\ &\leq \frac{1}{2} (\geq) [|B(u)|^2 + |B(v)|^2]. \end{aligned}$$

Proof. Let $\lambda \in (0, 1)$. Observe that

$$\begin{aligned} & \int_0^1 |B[(1-t)(\lambda v + (1-\lambda)u) + tv]|^2 dt \\ &= \int_0^1 |B[((1-t)\lambda + t)v + (1-t)(1-\lambda)u]|^2 dt \end{aligned}$$

and

$$\int_0^1 |B[t(\lambda v + (1-\lambda)u) + (1-t)u]|^2 dt = \int_0^1 |B[t\lambda v + (1-\lambda t)u]|^2 dt.$$

If we make the change of variable $\tau := (1-t)\lambda + t$ then we have $1-\tau = (1-t)(1-\lambda)$ and $d\tau = (1-\lambda)dt$. Then

$$\begin{aligned} & \int_0^1 |B[((1-t)\lambda + t)v + (1-t)(1-\lambda)u]|^2 dt \\ &= \frac{1}{1-\lambda} \int_\lambda^1 |B[\tau v + (1-\tau)u]|^2 d\tau. \end{aligned}$$

If we make the change of variable $\tau := \lambda t$ then we have $d\tau = \lambda dt$ and

$$\int_0^1 |B[t\lambda v + (1-\lambda t)u]|^2 dt = \frac{1}{\lambda} \int_0^\lambda |B[\tau v + (1-\tau)u]|^2 d\tau.$$

Therefore

$$\begin{aligned} & (1-\lambda) \int_0^1 |B[(1-t)(\lambda v + (1-\lambda)u) + tv]|^2 dt \\ &+ \lambda \int_0^1 |B[t(\lambda v + (1-\lambda)u) + (1-t)u]|^2 dt \\ &= \int_\lambda^1 |B[\tau v + (1-\tau)u]|^2 d\tau + \int_0^\lambda |B[\tau v + (1-\tau)u]|^2 d\tau \\ &= \int_0^1 |B[\tau v + (1-\tau)u]|^2 d\tau \end{aligned}$$

and then for any $\lambda \in [0, 1]$ we have the representation

$$\begin{aligned} (2.8) \quad & \int_0^1 |B[(1-t)u + tv]|^2 dt \\ &= (1-\lambda) \int_0^1 |B[(1-t)((1-\lambda)u + \lambda v) + tv]|^2 dt \\ &+ \lambda \int_0^1 |B[(1-t)u + t((1-\lambda)u + \lambda v)]|^2 dt. \end{aligned}$$

Using (2.2) we get

$$\begin{aligned} (2.9) \quad & \left| B \left[\frac{(1-\lambda)u + (1+\lambda)v}{2} \right] \right|^2 \leq \int_0^1 |B[(1-t)((1-\lambda)u + \lambda v) + tv]|^2 dt \\ & \leq \frac{1}{2} \left[|B[(1-\lambda)u + \lambda v]|^2 + |B(v)|^2 \right] \end{aligned}$$

and

$$(2.10) \quad \left| B \left[\frac{(2-\lambda)u + \lambda v}{2} \right] \right|^2 \leq \int_0^1 |B[(1-t)u + t((1-\lambda)u + \lambda v)]|^2 dt \\ \leq \frac{1}{2} \left[|B(u)|^2 + |B[(1-\lambda)u + \lambda v]|^2 \right].$$

Then by (2.8)-(2.10) we get

$$(1-\lambda) \left| B \left[\frac{(1-\lambda)u + (1+\lambda)v}{2} \right] \right|^2 + \lambda \left| B \left[\frac{(2-\lambda)u + \lambda v}{2} \right] \right|^2 \\ \leq \int_0^1 |B[(1-t)u + tv]|^2 dt \\ \leq \frac{1}{2} (1-\lambda) \left[|B[(1-\lambda)u + \lambda v]|^2 + |B(v)|^2 \right] \\ + \frac{1}{2} \lambda \left[|B(u)|^2 + |B[(1-\lambda)u + \lambda v]|^2 \right] \\ = \frac{1}{2} (1-\lambda) |B(v)|^2 + \frac{1}{2} \lambda |B(u)|^2 + \frac{1}{2} |B[(1-\lambda)u + \lambda v]|^2.$$

By the square modulus convexity of $B : [u, v] \rightarrow \mathcal{B}(H)$, we get

$$(1-\lambda) \left| B \left[\frac{(1-\lambda)u + (1+\lambda)v}{2} \right] \right|^2 + \lambda \left| B \left[\frac{(2-\lambda)u + \lambda v}{2} \right] \right|^2 \\ \geq \left| B \left[(1-\lambda) \frac{(1-\lambda)u + (1+\lambda)v}{2} + \lambda \frac{(2-\lambda)u + \lambda v}{2} \right] \right|^2 \\ = \left| B \left[\frac{(1-\lambda)^2 u + (1-\lambda^2)v}{2} + \frac{(2-\lambda)\lambda u + \lambda^2 v}{2} \right] \right|^2 \\ = \left| B \left(\frac{u+v}{2} \right) \right|^2$$

and

$$\frac{1}{2} (1-\lambda) |B(v)|^2 + \frac{1}{2} \lambda |B(u)|^2 + \frac{1}{2} |B[(1-\lambda)u + \lambda v]|^2 \\ \leq \frac{1}{2} (1-\lambda) |B(v)|^2 + \frac{1}{2} \lambda |B(u)|^2 + \frac{1}{2} \left[(1-\lambda) |B(u)|^2 + \lambda |B(v)|^2 \right] \\ = \frac{1}{2} \left[|B(u)|^2 + |B(v)|^2 \right],$$

which proves the desired result (2.6). \square

Remark 2. A scalar version of inequality (2.6) was obtained by Barnett, Cerone and Dragomir in [2].

3. GRADIENT INEQUALITIES

Following Roberts and Varberg [15, p. 5], we recall that if $f : I \rightarrow \mathbb{R}$ is a convex function, then for any $s_0 \in \overset{\circ}{I}$ (the interior of the interval I) the limits

$$f'_-(s_0) := \lim_{s \rightarrow s_0^-} \frac{f(s) - f(s_0)}{s - s_0} \quad \text{and} \quad f'_+(s_0) := \lim_{s \rightarrow s_0^+} \frac{f(s) - f(s_0)}{s - s_0}$$

exists and $f'_-(s_0) \leq f'_+(s_0)$. The functions f'_- and f'_+ are monotonic nondecreasing on \hat{I} and this property can be extended to the whole interval I (see [15, p. 7]).

From the monotonicity of the lateral derivatives f'_- and f'_+ we also have *the gradient inequality*

$$f'_-(s)(s - \tau) \geq f(s) - f(\tau) \geq f'_+(\tau)(s - \tau)$$

for any $s, \tau \in \hat{I}$.

If $I = [a, b]$, then at the end points we also have the inequalities

$$f(s) - f(a) \geq f'_+(a)(s - a)$$

for any $s \in (a, b]$ and

$$f(\tau) - f(b) \geq f'_-(b)(\tau - b)$$

for any $\tau \in [a, b)$.

For the operator $T \in \mathcal{B}(H)$ we define the selfadjoint operator

$$\operatorname{Re}(T) = \frac{1}{2}(T^* + T).$$

Assume that function $B : [a, b] \rightarrow \mathcal{B}(H)$ is continuous on $[a, b]$. The function $B : [a, b] \rightarrow \mathcal{B}(H)$ is square modulus convex on $[a, b]$ if and only if for all $x \in H \setminus \{0\}$ the auxiliary function $\varphi_{B,x} : [a, b] \rightarrow [0, \infty)$, $\varphi_{B,x}(u) = \|B(u)x\|^2$ is convex on $[a, b]$.

Indeed, condition (1.5) is equivalent to

$$\left\langle |B((1-t)u + tv)|^2 x, x \right\rangle \leq (1-t) \left\langle |B(u)|^2 x, x \right\rangle + t \left\langle |B(v)|^2 x, x \right\rangle,$$

namely

$$\begin{aligned} & \left\langle [B((1-t)u + tv)]^* B((1-t)u + tv) x, x \right\rangle \\ & \leq (1-t) \left\langle [B(u)]^* B(u) x, x \right\rangle + t \left\langle [B(v)]^* B(v) x, x \right\rangle, \end{aligned}$$

or

$$\|B((1-t)u + tv)x\|^2 \leq (1-t) \|B(u)x\|^2 + t \|B(v)x\|^2$$

for all $t \in [0, 1]$ and $u, v \in [a, b]$.

We also have

$$\begin{aligned} \varphi'_{\pm B,x}(u) &= (\langle B(u)x, B(u)x \rangle)'_{\pm} = \langle B'_{\pm}(u)x, B(u)x \rangle + \langle B(u)x, B'_{\pm}(u)x \rangle \\ &= \langle (B(u))^* B'_{\pm}(u)x, x \rangle + \left\langle (B'_{\pm}(u))^* B(u)x, x \right\rangle \\ &= \langle (B(u))^* B'_{\pm}(u)x, x \rangle + \left\langle ((B(u))^* B'_{\pm}(u))^* x, x \right\rangle \\ &= \langle 2 \operatorname{Re}((B(u))^* B'_{\pm}(u)) x, x \rangle \end{aligned}$$

and

$$\begin{aligned} \varphi'_{+B,x}(a) &= 2 \langle \operatorname{Re}((B(a))^* B'_+(a)) x, x \rangle, \\ \varphi'_{-B,x}(b) &= 2 \langle \operatorname{Re}((B(b))^* B'_-(b)) x, x \rangle \end{aligned}$$

for all $x \in H \setminus \{0\}$.

We have for $t \in (a, b)$ and small $h \neq 0$ such that $t + h \in (a, b)$,

$$\begin{aligned} \left\langle \frac{|B(t+h)|^2 - |B(t)|^2}{h} x, x \right\rangle &= \frac{1}{h} \left[\langle |B(t+h)|^2 x, x \rangle - \langle |B(t)|^2 x, x \rangle \right] \\ &= \frac{1}{h} \left[\|B(t+h)x\|^2 - \|B(t)x\|^2 \right] \end{aligned}$$

for all $x \in H \setminus \{0\}$.

By taking the lateral limits, we get

$$\begin{aligned} \lim_{h \rightarrow \pm 0} \left\langle \frac{|B(t+h)|^2 - |B(t)|^2}{h} x, x \right\rangle &= \lim_{h \rightarrow \pm 0} \frac{1}{h} \left[\|B(t+h)x\|^2 - \|B(t)x\|^2 \right] \\ &= \langle 2 \operatorname{Re} ((B(t))^* B'_\pm(t)) x, x \rangle \end{aligned}$$

for all $x \in H \setminus \{0\}$.

Therefore for the function $\varphi(t) := |B(t)|^2$, $t \in (a, b)$ we have

$$\varphi'_\pm(t) = 2 \operatorname{Re} ((B(t))^* B'_\pm(t))$$

and

$$\varphi'_+(a) = 2 \operatorname{Re} ((B(a))^* B_+(a)), \quad \varphi'_-(b) = 2 \operatorname{Re} ((B(b))^* B'_-(b)).$$

We also have *the operator gradient inequality*

$$(3.1) \quad \begin{aligned} 2(s-\tau) \operatorname{Re} ((B(s))^* B'_-(s)) &\geq |B(s)|^2 - |B(\tau)|^2 \\ &\geq 2(s-\tau) \operatorname{Re} ((B(\tau))^* B'_+(\tau)) \end{aligned}$$

for any $s, \tau \in (a, b)$.

Moreover, at the end points of the interval we have the operator inequalities

$$(3.2) \quad |B(s)|^2 - |B(a)|^2 \geq 2(s-a) \operatorname{Re} ((B(a))^* B'_+(a))$$

for any $s \in (a, b]$ and

$$(3.3) \quad 2(b-\tau) \operatorname{Re} ((B(b))^* B'_-(b)) \geq |B(b)|^2 - |B(\tau)|^2$$

for any $\tau \in [a, b)$.

Finally, we notice that for $a \leq t_1 < t_2 \leq b$, we have

$$(3.4) \quad \begin{aligned} \operatorname{Re} ((B(a))^* B'_+(a)) &\leq \operatorname{Re} ((B(t_1))^* B'_\pm(t_1)) \\ &\leq \operatorname{Re} ((B(t_2))^* B'_\pm(t_2)) \leq \operatorname{Re} ((B(b))^* B'_-(b)) \end{aligned}$$

in the operator order of $\mathcal{B}(H)$.

Recall the following Ostrowski's type scalar inequality [4]:

Lemma 2. *Let $h : [\alpha, \beta] \subset \mathbb{R} \rightarrow \mathbb{R}$ be a convex function on $[\alpha, \beta]$. Then for any $\gamma \in (\alpha, \beta)$ one has the inequality*

$$(3.5) \quad \begin{aligned} &\frac{1}{2} \left[(\beta - \gamma)^2 h'_+(\gamma) - (\gamma - \alpha)^2 h'_-(\gamma) \right] \\ &\leq \int_\alpha^\beta h(t) dt - (\beta - \alpha) h(\gamma) \\ &\leq \frac{1}{2} \left[(\beta - \gamma)^2 h'_-(\beta) - (\gamma - \alpha)^2 h'_+(\alpha) \right]. \end{aligned}$$

The constant $\frac{1}{8}$ is sharp in both inequalities.

The second inequality also holds for $\gamma = \alpha$ or $\gamma = \beta$. In particular, we have for $\gamma = \frac{\alpha+\beta}{2}$ that

$$(3.6) \quad 0 \leq \frac{1}{8} (\beta - \alpha)^2 [h'_+(\gamma) - h'_-(\gamma)] \leq \int_{\alpha}^{\beta} h(t) dt - (\beta - \alpha) h\left(\frac{\alpha + \beta}{2}\right) \\ \leq \frac{1}{8} (\beta - \alpha)^2 [h'_-(\beta) - h'_+(\alpha)],$$

with $\frac{1}{8}$ best possible in both inequalities.

We have the following result:

Theorem 3. Assume that function $B : [a, b] \rightarrow \mathcal{B}(H)$ is continuous on $[a, b]$ and square modulus convex on $[a, b]$. Then for $s \in (a, b)$ we have

$$(3.7) \quad \operatorname{Re} \left\{ (B(s))^* \left[(b-s)^2 B'_+(s) - (s-a)^2 B'_-(s) \right] \right\} \\ \leq \int_a^b |B(t)|^2 dt - (b-a) |B(s)|^2 \\ \leq (b-s)^2 \operatorname{Re} \left((B(b))^* B'_-(b) \right) - (s-a)^2 \operatorname{Re} \left((B(a))^* B'_-(a) \right)$$

In particular, we have

$$(3.8) \quad 0 \leq \frac{1}{4} (b-a)^2 \operatorname{Re} \left\{ \left(B\left(\frac{a+b}{2}\right) \right)^* \left[B'_+\left(\frac{a+b}{2}\right) - B'_-\left(\frac{a+b}{2}\right) \right] \right\} \\ \leq \int_a^b |B(t)|^2 dt - (b-a) \left| B\left(\frac{a+b}{2}\right) \right|^2 \\ \leq \frac{1}{4} (b-a)^2 \left[\operatorname{Re} \left((B(b))^* B'_-(b) \right) - \operatorname{Re} \left((B(a))^* B'_-(a) \right) \right].$$

Proof. Let $x \in H \setminus \{0\}$ and apply Lemma 2 for the function $h = \varphi_{B,x}$ on the interval $[a, b]$ and for $\gamma = s \in (a, b)$ to get

$$\frac{1}{2} \left[(b-s)^2 \langle 2 \operatorname{Re} \left((B(s))^* B'_+(s) \right) x, x \rangle - (s-a)^2 \langle 2 \operatorname{Re} \left((B(s))^* B'_-(s) \right) x, x \rangle \right] \\ \leq \int_a^b \|B(t)x\|^2 dt - (b-a) \|B(s)x\|^2 \\ \leq \frac{1}{2} \left[(b-s)^2 \langle 2 \operatorname{Re} \left((B(b))^* B'_-(b) \right) x, x \rangle - (s-a)^2 \langle 2 \operatorname{Re} \left((B(a))^* B'_-(a) \right) x, x \rangle \right],$$

namely

$$\left\langle \left[(b-s)^2 \operatorname{Re} \left((B(s))^* B'_+(s) \right) - (s-a)^2 \operatorname{Re} \left((B(s))^* B'_-(s) \right) \right] x, x \right\rangle \\ \leq \left\langle \left[\left(\int_a^b |B(t)|^2 dt \right) - (b-a) |B(s)|^2 \right] x, x \right\rangle \\ \leq \left\langle \left[(b-s)^2 \operatorname{Re} \left((B(b))^* B'_-(b) \right) - (s-a)^2 \operatorname{Re} \left((B(a))^* B'_-(a) \right) \right] x, x \right\rangle,$$

which is equivalent to (3.7). \square

Recall the following trapezoid type inequality [5]:

Lemma 3. *Let $h : [\alpha, \beta] \subset \mathbb{R} \rightarrow \mathbb{R}$ be a convex function on $[\alpha, \beta]$. Then for any $\gamma \in (\alpha, \beta)$ one has the inequality*

$$(3.9) \quad \begin{aligned} & \frac{1}{2} \left[(\beta - \gamma)^2 h'_+(\gamma) - (\gamma - \alpha)^2 h'_-(\gamma) \right] \\ & \leq (\gamma - \alpha) h(\alpha) + (\beta - \gamma) h(\beta) - \int_{\alpha}^{\beta} h(t) dt \\ & \leq \frac{1}{2} \left[(\beta - \gamma)^2 h'_-(\beta) - (\gamma - \alpha)^2 h'_+(\alpha) \right]. \end{aligned}$$

The constant $\frac{1}{2}$ is sharp in both inequalities.

The second inequality also holds for $\gamma = \alpha$ or $\gamma = \beta$. In particular, we have for $\gamma = \frac{\alpha + \beta}{2}$ that

$$(3.10) \quad \begin{aligned} 0 & \leq \frac{1}{8} (\beta - \alpha)^2 [h'_+(\gamma) - h'_-(\gamma)] \leq (\beta - \alpha) \frac{h(\alpha) + h(\beta)}{2} - \int_{\alpha}^{\beta} h(t) dt \\ & \leq \frac{1}{8} (\beta - \alpha)^2 [h'_-(\beta) - h'_+(\alpha)], \end{aligned}$$

with $\frac{1}{8}$ best possible in both inequalities.

We can state the following result as well:

Theorem 4. *Assume that function $B : [a, b] \rightarrow \mathcal{B}(H)$ is continuous on $[a, b]$ and square modulus convex on $[a, b]$. Then for $s \in (a, b)$ we have*

$$(3.11) \quad \begin{aligned} & \operatorname{Re} \left\{ (B(s))^* \left[(b-s)^2 B'_+(s) - (s-a)^2 B'_-(s) \right] \right\} \\ & \leq (b-s) |B(b)|^2 + (s-a) |B(a)|^2 - \int_a^b |B(t)|^2 dt \\ & \leq (b-s)^2 \operatorname{Re} \left((B(b))^* B'_-(b) \right) - (s-a)^2 \operatorname{Re} \left((B(a))^* B'_-(a) \right). \end{aligned}$$

In particular,

$$(3.12) \quad \begin{aligned} 0 & \leq \frac{1}{4} (b-a)^2 \operatorname{Re} \left\{ \left(B \left(\frac{a+b}{2} \right) \right)^* \left[B'_+ \left(\frac{a+b}{2} \right) - B'_- \left(\frac{a+b}{2} \right) \right] \right\} \\ & \leq (b-a) \frac{|B(a)|^2 + |B(b)|^2}{2} - \int_a^b |B(t)|^2 dt \\ & \leq \frac{1}{4} (b-a)^2 \left[\operatorname{Re} \left((B(b))^* B'_-(b) \right) - \operatorname{Re} \left((B(a))^* B'_-(a) \right) \right]. \end{aligned}$$

4. EXAMPLE FOR POWER FUNCTION

We have the following integral representation for the power function when $t > 0$, $r \in (0, 1]$, see for instance [1, p. 145]

$$(4.1) \quad t^{r-1} = \frac{\sin(r\pi)}{\pi} \int_0^{\infty} \frac{\lambda^{r-1}}{\lambda+t} d\lambda.$$

Motivated by these representation, we introduced in [1], for a continuous and positive function $w(\lambda)$, $\lambda > 0$, the following *integral transform*

$$(4.2) \quad \mathcal{D}(w, \mu)(t) := \int_0^{\infty} \frac{w(\lambda)}{\lambda+t} d\mu(\lambda), \quad t > 0,$$

where μ is a positive measure on $(0, \infty)$ and the integral (4.2) exists for all $t > 0$.

For μ the Lebesgue usual measure, we put

$$(4.3) \quad \mathcal{D}(w)(t) := \int_0^\infty \frac{w(\lambda)}{\lambda+t} d\lambda, \quad t > 0.$$

If we take μ to be the usual Lebesgue measure and the kernel $w_r(\lambda) = \lambda^{r-1}$, $r \in (0, 1]$, then

$$(4.4) \quad t^{r-1} = \frac{\sin(r\pi)}{\pi} \mathcal{D}(w_r)(t), \quad t > 0.$$

For a continuous and positive function $w(\lambda)$, $\lambda > 0$ and a positive measure μ on $(0, \infty)$, we can define the following mapping, which we call *monotonic integral transform*, by

$$(4.5) \quad \mathcal{M}(w, \mu)(t) := t \mathcal{D}(w, \mu)(t), \quad t > 0.$$

For all $T > 0$ we have, by the continuous functional calculus for selfadjoint operators, that

$$(4.6) \quad \mathcal{M}(w, \mu)(T) = T \mathcal{D}(w, \mu)(T) = \int_0^\infty w(\lambda) [1 - \lambda(T + \lambda)^{-1}] d\mu(\lambda).$$

This gives the representation

$$(4.7) \quad T^r = \frac{\sin(r\pi)}{\pi} \mathcal{M}(w_r, \mu)(T),$$

for $T > 0$.

We have the following representation of the Fréchet derivative $D(\mathcal{M}(w, \mu))$:

Lemma 4. For all $A > 0$,

$$(4.8) \quad D(\mathcal{M}(w, \mu))(A)(V) = \int_0^\infty \lambda w(\lambda) (\lambda + A)^{-1} V (\lambda + A)^{-1} d\mu(\lambda)$$

for all $V \in S(H)$, the class of all selfadjoint operators on H .

Proof. The proof follows directly from the fact that the Fréchet derivative of the map $\text{Inv}(A) = A^{-1}$ is

$$D(\text{Inv})(A)(V) = -A^{-1}VA^{-1}$$

for all $A > 0$ and $V \in S(H)$. □

For a continuous function f on $(0, \infty)$ and $A, B > 0$ we consider the auxiliary function $f_{A,B} : [0, 1] \rightarrow \mathbb{R}$ defined by

$$f_{A,B}(t) := f((1-t)A + tB), \quad t \in [0, 1].$$

We have the following representations of the derivatives:

Lemma 5. Assume that the operator function generated by f is Fréchet differentiable in each $A > 0$, then for $B > 0$ we have that $f_{A,B}$ is differentiable on $[0, 1]$,

$$(4.9) \quad \frac{df_{A,B}(t)}{dt} = D(f)((1-t)A + tB)(B - A)$$

for $t \in [0, 1]$, where in 0 and 1 the derivatives are the right and left derivatives.

Proof. We prove only for the interior points $t \in (0, 1)$. Let h be in a small interval around 0 such that $t + h \in (0, 1)$. Then for $h \neq 0$,

$$\begin{aligned} & \frac{f_{A,B}(t+h) - f(t)}{h} \\ &= \frac{f((1-(t+h))A + (t+h)B) - f((1-t)A + tB)}{h} \\ &= \frac{f((1-t)A + tB + h(B-A)) - f((1-t)A + tB)}{h} \end{aligned}$$

and by taking the limit over $h \rightarrow 0$, we get

$$\begin{aligned} \frac{df_{A,B}(t)}{dt} &= \lim_{h \rightarrow 0} \frac{f_{A,B}(t+h) - f(t)}{h} \\ &= \lim_{h \rightarrow 0} \left[\frac{f((1-t)A + tB + h(B-A)) - f((1-t)A + tB)}{h} \right] \\ &= D(f)((1-t)A + tB)(B-A), \end{aligned}$$

which proves (4.9). \square

For the transform $\mathcal{M}(w, \mu)(t)$ defined above, we consider the auxiliary function

$$\mathcal{M}(w, \mu)_{A,B}(t) := \mathcal{M}(w, \mu)((1-t)A + tB)$$

where $A, B > 0$ and $t \in [0, 1]$.

Corollary 1. For all $A, B > 0$ and $t \in [0, 1]$,

$$\begin{aligned} (4.10) \quad \frac{d\mathcal{M}(w, \mu)_{A,B}(t)}{dt} &= D(\mathcal{M}(w, \mu))((1-t)A + tB)(B-A) \\ &= \int_0^\infty \lambda w(\lambda) (\lambda + (1-t)A + tB)^{-1} (B-A) \\ &\quad \times (\lambda + (1-t)A + tB)^{-1} d\mu(\lambda). \end{aligned}$$

By utilising (4.7) and (4.10) we derive for $A, B > 0$ and $r \in (0, 1)$ that

$$\begin{aligned} & \ell'_{r,A,B}(t) \\ &= \frac{\sin(r\pi)}{\pi} \\ &\quad \times \int_0^\infty \lambda^r (\lambda + (1-t)A + tB)^{-1} (B-A) (\lambda + (1-t)A + tB)^{-1} d\lambda, \end{aligned}$$

where $\ell_{r,A,B}(t) := ((1-t)A + tB)^r$. This equality holds for $t \in [0, 1]$, where in 0 and 1 the derivatives are the right and left derivatives, namely

$$\ell'_{r,A,B+}(0) = \frac{\sin(r\pi)}{\pi} \int_0^\infty \lambda^r (\lambda + A)^{-1} (B-A) (\lambda + A)^{-1} d\lambda$$

and

$$\ell'_{r,A,B-}(1) = \frac{\sin(r\pi)}{\pi} \int_0^\infty \lambda^r (\lambda + B)^{-1} (B-A) (\lambda + B)^{-1} d\lambda.$$

Since the function

$$\ell_{r/2,A,B}(t) = ((1-t)A + tB)^{r/2}$$

is *square modulus concave* on $[0, 1]$, then we get the following reverse Hermite-Hadamard inequalities

$$(4.11) \quad 0 \leq \left(\frac{A+B}{2}\right)^r - \int_0^1 ((1-t)A + tB)^r dt \leq \frac{1}{8} \frac{\sin(r\pi)}{\pi} \\ \times \int_0^\infty \lambda^r \left[(\lambda+A)^{-1} (B-A) (\lambda+A)^{-1} - (\lambda+B)^{-1} (B-A) (\lambda+B)^{-1} \right] d\lambda$$

and

$$(4.12) \quad 0 \leq \int_0^1 ((1-t)A + tB)^r dt - \frac{A^r + B^r}{2} \leq \frac{1}{8} \frac{\sin(r\pi)}{\pi} \\ \times \int_0^\infty \lambda^r \left[(\lambda+A)^{-1} (B-A) (\lambda+A)^{-1} - (\lambda+B)^{-1} (B-A) (\lambda+B)^{-1} \right] d\lambda$$

for $A, B > 0$ and $r \in (0, 1)$.

REFERENCES

- [1] R. Bhatia, *Matrix Analysis*. Graduate Texts in Mathematics, 169. Springer-Verlag, New York, 1997. xii+347 pp. ISBN: 0-387-94846-5.
- [2] N. S. Barnett, P. Cerone and S. S. Dragomir, Some new inequalities for Hermite-Hadamard divergence in information theory, in *Stochastic Analysis and Applications*. Vol. **3**, 7–19, Nova Sci. Publ., Hauppauge, NY, 2003. Preprint *RGMIA Res. Rep. Coll.* **5** (2002), Art. 8, 11 pp. [Online <https://rgmia.org/papers/v5n4/NIHHDIT.pdf>].
- [3] P. Cerone and S. S. Dragomir, *Mathematical Inequalities. A Perspective*. CRC Press, Boca Raton, FL, 2011. x+391 pp. ISBN: 978-1-4398-4896-8.
- [4] S. S. Dragomir, An inequality improving the first Hermite-Hadamard inequality for convex functions defined on linear spaces and applications for semi-inner products. *J. Inequal. Pure Appl. Math.* **3** (2002), no. 2, Article 31, 8 pp.
- [5] S. S. Dragomir, An inequality improving the second Hermite-Hadamard inequality for convex functions defined on linear spaces and applications for semi-inner products. *J. Inequal. Pure Appl. Math.* **3** (2002), no. 3, Article 35, 8 pp.
- [6] S. S. Dragomir, *Operator Inequalities of Ostrowski and Trapezoidal Type*. Springer Briefs in Mathematics. Springer, New York, 2012. x+112 pp. ISBN: 978-1-4614-1778-1
- [7] S. S. Dragomir, Some Hermite-Hadamard type inequalities for operator convex functions and positive maps. *Spec. Matrices* **7** (2019), 38–51.
- [8] S. S. Dragomir and C. E. M. Pearce, *Selected Topics on Hermite-Hadamard Inequalities and Applications*, RGMIA Monographs, 2000. [Online http://rgmia.org/monographs/hermite_hadamard.html].
- [9] V. Darvish, S. S. Dragomir, H. M. Nazari and A. Taghavi, Some inequalities associated with the Hermite-Hadamard inequalities for operator h -convex functions. *Acta Comment. Univ. Tartu. Math.* **21** (2017), no. 2, 287–297.
- [10] A. G. Ghazanfari, Hermite-Hadamard type inequalities for functions whose derivatives are operator convex. *Complex Anal. Oper. Theory* **10** (2016), no. 8, 1695–1703.
- [11] J. Han and J. Shi, Refinements of Hermite-Hadamard inequality for operator convex function. *J. Nonlinear Sci. Appl.* **10** (2017), no. 11, 6035–6041.
- [12] T.Y. Lian and W. Tang, Hermite-Hadamard type inequalities for operator h -preinvex functions. *Commun. Math. Res.* **35** (2019), no. 2, 180–192.
- [13] J. Pečarić and S. S. Dragomir, A generalization of Hadamard's inequality for isotonic linear functionals, *Radovi Mat.* (Sarajevo) **7** (1991), 103–107.
- [14] J. E. Pečarić, F. Proschan and Y. L. Tong, *Convex Functions, Partial Orderings and Statistical Applications* (Mathematics in Science and Engineering), Boston/San Diego/New York/London/Sydney/Tokyo/Toronto, 187, Academic Press Inc., 1992.
- [15] A. W. Roberts and D. E. Varberg, *Convex Functions*, Academic Press, 1973.
- [16] M. Vivas Cortez and J. E. H. Hernández. Refinements for Hermite-Hadamard type inequalities for operator h -convex function. *Appl. Math. Inf. Sci.* **11** (2017), no. 5, 1299–1307

- [17] S.-H. Wang and S.-H. Wu, Some new Hermite-Hadamard type inequalities for operator m -convex and (α, m) -convex functions on the co-ordinates. *J. Comput. Anal. Appl.* **25** (2018), no. 3, 474–487.

¹MATHEMATICS, COLLEGE OF ENGINEERING & SCIENCE, VICTORIA UNIVERSITY, PO BOX 14428, MELBOURNE CITY, MC 8001, AUSTRALIA.

E-mail address: `sever.dragomir@vu.edu.au`

URL: <http://rgmia.org/dragomir>

²DST-NRF CENTRE OF EXCELLENCE IN THE MATHEMATICAL, AND STATISTICAL SCIENCES, SCHOOL OF COMPUTER SCIENCE, & APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND,, PRIVATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA